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RA570.18m

A 1 LT
HAEKESMELSMOKREENE ICHEREEL
THERT3EEZD)
-X57J ---4320 N/m?
-t E1F---200 N/m?
[RFIRER -FE& ---2100 N/m2 516620 N/m?2
—6.62kN/m?2 % 1.5m= 9.93kN/m

Y B BE i & e
BRAESS
+++12000 N/m2

- BE
4+ E1F-+- 1000 N/m2 Et+13000 N/m?2

—13kN/m?2 % 5.25m= 68.25 kN/m

BEfIAmBT=YVIZELAEAMIGHE
BAET—ILKEE
10kN/m3 X 5.25m % 5.2m/2= 136.5 kN/m
&5 W=9.93+68.25+136.5=214.7kN/m

T = P/(BE{INE X B#[F)= 0.44 N/mm?
< EFFAfE 0.9 N/mm?2
Fcl80%E HisF B B AMTIE W E
— JKFEFE:P=216.0kN/m
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B /NEMEF1:N,=(1.0-Cv) X W = 4,440kN

B K IE#E 71:N,=(1.0+Cv) X W =10,360kN

# ABT 71:Q=CH x W= 7,400kN

B [FE— A2 M:M=(CH X W) x H = 29,230kNm

BI3RMAE: ot = -N,/A + M/Z = 1,210 kN/m2
=121 N/mm2 < EFZ&{E 1.4 N/mm?
&I FE: 0 c = NJA + M/Z = 1,806kN/mm?
—1.81 N/mm2 < EF&A{E 14 N/mm?2
BAMSAE: © = L.74FREE) x Q/A
= 515kN/m?2
—0.52 N/mm? < EFFZ&{E 1.05 N/mm?
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